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x+1-

xOlAL, S (x) = f(1) + f(2) + f(3) + - + f(x)

@ 15 ® 35 @ 50 ® 99
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V2x + V3y =56 = o
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V3x—2V2y = -2
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10. f(n) = T v A, F()+£(2)+F(3)+---+f(8) o &2?
@ 2 @ 3 ® 2v2-1

@ 2v2+1 ® 32



11. V143 9 @S azt sk, vb=1.105 9 o, a,b 9 3L&?

> 0 1 2 3

1.0 | 1.000 | 1.005 1,010 1,015

1.1 ] 1,049 | 1.054 | 1,058 | 1.063

1.2 | 1,095 1,100 1,105 1.109

1.3 | 1.140 1,145 1.149 1,153

1.4 | 1.183 1,187 1,192 1,196

® a=1.000, b=1.13 @ a=1.005 b=1.15
® a=1.049, b =1.42 @ a=1.196, b =1.22

® a=1.192, b=1.23
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13, oA x' -3 +1°] (B +ax+b)(x* +ex+d) = 525 2 o,
a+b+c+d gZ& F5HH?

® 2 @1 @0 @ -1 ® -2



14, A 2 - dxy + 3% - 6x + 2 - 16 & QA58 SR
(x+ay+0b)(x+cy+d) 7t HAT o]t a - b+ c—d o 727

Do @1 ® 2 @ 3 ® 4
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Ao b2 b A27F 242 3x — 1, x — 2y ¢ AL WA o] K]z}
3x3 — 7x? — 6x%y + 2x + 1dxy — 4y o]t} o|wf|, o] A HHA| 2] =o]&
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® x-2 @ x-1 ® x+1

@ x+2 ® 2x+1



